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2. Rank the following financial instruments in accordance with the investment preferences of a 9. InDecember 2017, a company made the following transactions:
risk-averse in_vestor. Dec 11 Purchased goods on credit from C Chan for $2,400, before deducting a 4% trade
Wilgh vigle _ ' discount.
(1) A'Junk Bond with an exceptionally high return rate Dec19 Returned goods purchased from a supplier on credit for $180.
(2) Shares from companies included in Hang Seng Index Dec27 Purchasedgoods on credit from WH for $3,500, with 10% cash discount if the
(3) Shares from companies listed on the Main Board 7553, 7 % [ 1 § Byt tiade kb 7 days.

Calculate the total amount of purchases recorded for the month of December 2017 in the
purchases account?

RRERRORAAMT  ZERT ELWFIAT oBLE

(1) & @& ehamiR £ % RUITEI2ZA > FRAFATHRS:
Q) EAHHTYNIKE 12118 QRALKRER L2400 Kk M0EEHdo & i
; i, 7 B2 £ 201800 W& L1cunl, 225 30 & Q0
NEREFHAILE 12198 REfEBiBRme & L8180 « ddicomil, T2IAGYFIK0
®) FRSARE 12A278 G RRmlERS3 5000 oh TRAFKTE 05R 24740 -
, SHE 2017 4 12 B 45 96 SR P soike 1h 5 403 - AN
(wrong concept: Bond=>low risk) s Tk & A
6% | A. $5,454(2,400x0.96+3.500x 0.9)
66% | B $5,624 (2.400x0.96 + 3.500 -180) (Goods returned should not reduce Purchases)
24% /Cy $5.804 (2.400x0.96+ 3.500)
4% | D. $5,900 (2,400 +3.500)




10. Which of the following statements about consumer credit are correct?

(1) Consumer credit is often unsecured.
(2) Student loan is a kind of consumer credit.
(3) Company usually uses consumer credit to fmance its busme§s

L/{-Fuﬁrlﬁﬂﬂ;y}/é %;g‘{:ﬁ‘éﬁ&iiﬁibﬁé’] ? of, Melats

(1) HEABEFET X BEHRS
(2) 2ARRALF-MHHFECR
() rABFEAAREGERHLRHRE -

31% [ A. (1)only

32% [B) (1)and (2)only
26% . (2)and (3) only
1% [ D. (1).(2)and (3)

19. Which of the following are the major functions of accounting?

(1) communicating
(2) budgeting [ wronayeneat)
(3) summarising :

DTRRAR G ERAR?
(1) #&d
(2) B%
(3) %4

2% 1)and (2) only Functions of Accounting &&1HILIAE

35% /| B7 (1 yand (3) only (recording 3%, classifying 733H, summarising and comniunication)

0% 1C. (2)and (3) only
2% |D. (1), (2)and 3)

12. Which of the following tasks are performed by the marketing department of a company?

(2) formulate promotion strategies of the prodm,t
(3) design the remuneration package for the salespersons (by human resources dept.)

(4) [sort outlcustomers data for maintaining customer relationship (by IT dept.)
U IR AR o 2 3] 4 75 B 4430 PTEAT 0

(1) HEEN T E2EAAE

(2) #I% & Sl fE Rk

(3) #stsiE A mFBARY X (ANFR)
(4) B EE SR e HRE P WG (KR

% /A (1) and (2) only
(3)and (4) only

~ (1),(2)and (4) only
(1),(2),(3)and (4)

S0 W\

21. Which of the following are the possible ways for a bank to fulfill social responsibility to the

9
commutity? Environmental
(1) offer incentives for customers to use electronic bank statements Friendly Policy

(2) provide employees with volunteering leaves \/
(3) sponsor staff recreational act1v1t1es

TR R AT I B R ATHLR %&%Thf?”

() #EGLFEPEAETIUTALE BRBEREFBR
(2) RBEIBATFRE ‘

(3) BB IHELED

A. (2)only

B. / (1)and (2) only
C. (1)and(3)only
D. (1),(D)and (3)




22. Which of the following business functions is responsible for setting up an App to facilitate

customers in making reservation at restaurants?

0%
30%
23%
47%

A. Financial management
B. Operations management
C. Marketing management

<’ P) Information management

NTREH £k

A HEEE
B. %%
C. TFEE
D. EnsHE

 ERELARANEMEP A RRRGEM?

24. Tt is a common practice for the banks in Hong Kong to pay semi-annual interest to all savings

21%

38% |
31%

10%

accounts on 30 June and 31 December each year. The following is an 18-month savings plan
starting on 1 January 2016. Calculate the net present value of the investment (to the nearest
dollar) if the nominal interest rate is 4% per annum:

Events Amountin §

First Deposit on 1 of July 2016 40,000 End of period 1 (outflow)
Second Deposit on 1% of January 2017 30,000 End of period 2 (outflow)
Cash Return on 30" June 2017 77,000 End of period 3 (inflow)

FRATBERELE0A 0 BRI2A 3 8 AMERERS LA EENHE - 0TA
#0165 1 A1 BELE IS EAKENS - RLAHELRE O HERE IS
AEGHEEEHA) |

4 23(8)

01647 A 1 88 %—%As 10,000 F ol
NTELIABHE-RAR 30, 000 e 4%;2 for
201746 B 30 BeyBR AR 77,000 6-month

A $2345 [-40,000]+ [-30.000/(1-+4%)]+ [77.000/(1+ 4%)?]

B\E $4.508 [-40,000/(1+4%/2)]+ [-30,000/(1'*4“‘0/2):] +[77,000/(1 + 4%/’3)3]

C $2254 [-40,000/(1+49%)] + [-30,000/(1+49)] + [77.000/(1 + 4%)’]

D. $62.178 [-40.000/(1+4%/2)] + [30,000/(1+49/2)] + [77.000i(1 + 426/2)°]

= Cd €.u /% S D) o --'.'A\,“" WV /ST AA 0
%ﬂ%*ﬂkﬁﬁywﬂwtw}w”'J*uwWLﬁ
23. Which of the following statements are correct descriptions of SMEs?

(D)~ They enj oy s lower profits tax rate. -

-2y Theyserve [ only glocal customers on small market. \ Li V)

(3) They are usually lack of economies of scale.

(4) The owners often could not afford to hire management specialists.

TR T N E el R ke ?
(1) efFH R FFRRE -

(2) TARAR ST HREABEE -
(3) EM@EFHIALLE

(4) REBYHEARIGERASTEER 4 o
9% - 73(\ (1) and (2) only
40% [B.) (3)and (4)only
31% € (1),(3)and (4) only
20% 4 D. (2),(3)and (4)only »

25. Which of the following statements about the personal financial planning at different life stages
is correct?

5% | A.  The most important objective of estate planning in Hong Kong is to minimize tax

expenses
12% @ For married couples with young children, the insurance protection for parents is more

important than children. (Need to protect breadwinners first)

23% | € Retirement planning is needed at the pre-retirement stage only and more financial

resources must be directed to savings for retirement preparation.
(preparation should begin long before retirement)

60% | D7 The most important objecfive of savings management for retired people is providing

enough resources for medical expenses.
(most important objective is providing resources for living expenses)

UTFRAREINEALREBEGBAZHR I R B ?

A, BETPEAABOREZANARIRAE NB SRS

B, #HRHELERFTEENFHIOAG  LBORBRRELHTHEATE - WROA

. AHBLRANABHEREKSE BESMETRLBRANE EHBARE
e

D HEFEWNREZEMAACEAATREBERARUEAHNER



The following accounting information for the year ended 31 December 2017 was extracted from the

books of a firm:

MUTF RN E BN ZE 2017 12 A 31 B b FE ey 3 A A -

Gross profit margin £ #| #§ 50%
Net profit margin ;§ #] # 20%
Other revenue H ik 35 2,000
Drawings $#t ¥ $9,600
Net profit ;f+#) $15.600
Capital i 4., 1 January 2017 $75,000
Capital 3§ 4. 31 December 2017 ?

27. The return on capital entployed for the year 2017 was
NITFEHER FaRMES

13%
21%
53%
13%

A 20.80%
B. 18.84%

$15,600/ $75,000] Not beginning capital
$15,600 + ($75,000+890,600)/2] (Wrong Ending Capital=$75,000+$15,600)

19.26%

[

B [

g} 20.00% [815,600 + (§75,000+881,000)/2] (Ending Capital=875,000+$15,600-$9,600)
[

$15,600/ $81,000] (Not Ending Capital=§75,000+$15,600-$9,600)

__ Return on capital employed should be based on

Average Capital for the year

ERRCHNRIEZRPIRAR

29. Which of the following statements are correct?

32%
14%
20%
34%

(1) TheMainland is the main re-export destination of Hong Kong commodities.

~(2) The Closer Economic Partnership Arrangement is the free trade legislaéon with the

purpose to promote the cross-border trade in goods and services. (agreements only)
(3) HongKong is the largest offshore Renminbi trading centre of the Mainland.

DT RAREREAL ?

(DR EAR LT ERUME G-
Q) "ERELINGRE R-RAGTHER RERDARBOTRT ) g
(B) FBRNRRGIIARERp T o

RE

(1yand (”)only
B. (1)and (3) on
T (2) and(3)on1y
D.(1),(2)and (3)

Ao b o sl s
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28. A bookkeeper entered a purchase return of $750 twice to the trade payables account in March

2017 and the purchase returns account was correctly entered. What were the effects on the
balance of trade payables account and the totals of trial balance at 31 March 20172

44%

9%

5%

42%

A.  The balance of trade payables account was overstated by $750 and the debit total of trial

balance was overstated by $750.(Debited twice in the Trade payable account->understate)

B. The balance of trade payables account was overstated by $750 but it would not affect the
trial balance agreement.

C. The balance of trade payables account was understated by $750 but it would not affect the
-~ trial balance agreement.

D. / The balance of trade payables account was understated by $750 and the debit total of trial

balance was overstated by $750.

W1TEI A4y — BB ESTHOMARE A F R, R LR EFZABRRERE -
UFRE AN TEIASL B HER BRRP RANRERAROTE?

A BAEREPBRASRTIDIRREAGE QISR TIN0
B. A RHKIEP BREASIRTIH0 A G YERT RO FHy o
C. BAEHKIKP BRFESRTIH0 LAY ERT RGP -
D, MAEHMP BADIMTE0 RRF RO OGS RTI00

30. On 13 July 2017, Sun Enterprise purchased goods totally $9,000 on credit from Moon Company,

and obtained a 5% trade discount. If Sun Enterprise repays within 23 days, it can enjoy a 2%

cash discount.
If Sun Enterprise repaid an amount on 22 July 2017, what are the double entries in Moon
Company of this transaction? (Moon Company is the seller in this transaction i.e. collection of

debtors within the cash discount period)

43% |

11%
9%

37% |

Dr Cr
- A. Tradepayables $8,379  Bank $8,379
| B. Tradepayables $8,550 Bank $8,550
' C. Bank $8,550  Tradereceivables $8,550
i D. Bank $8.379  Tradereceivables $8,379

ROITETA IS8 ABAEGAELERM, 000 6K 5 LRUFE £dtdo 5% - %
KBEEA 2 ANER  CTES WRAH 0 -
WRABLERNITETANE HBKA T HAA KL ERA OB LHALSE?
(BRBARS T ARDEREE  ARLS M ARG AR <)

& ®
B AHER $8,379 T $8, 379
B. AR $8,550  aRATAEE $8, 550
C. S4TA# $8,550 MR $8,550

D\ AT $8,379 MK $8, 379



Section B (Q.1 Averagei£i5349% / Highestf=100%)
Business Environment - Business Ownership and
Factors Affecting Decision Making

(BB - AREEEEL + REEEAERR)

15

(a) Distinguish two differences between a government department and a public enterprise..
(2 marks).
(b)  As the labour and rental costs keep rising, Vivien, a boutique owner, is considering
developing an on-line retail business to save the operation costs.-
Explain one technological factor and one social-cultural factor that may affect Vivien’s

decision. (4 marks).
(a) BANBUFAPIF X ENEHRAEE - (2 %)

(b) #hRAE—FFEERE HMELS LHBALRAYRN LA  WEALEME—HL
EEEMN UDAEEBEARAEL -
BETEeEYEERREY—BHFER T - BB % - 4 %)

Section B (Q.1 Average“4534% / Highestf;5100%)
1. Business Environment - Business Ownership and
Factors Affecting Decision Making

(R - RRANEE + PERsEAERR)

(a) BR3P AN
L. EAEM KA A Jik T RGIT R L M N Sk A
2. &4l A — 5 AR/ AV AL A B
¥ R A E fe ¥ ROR) AR 2
3. e W BOURHE E#E A AT GO E e o
4. ML FTH W T Al B R AR S STON S SR
(FHEELZEL 5. BH 2

Section B (Q.1 Average™1#434% / Highesti=100%)

15

Business Environment - Business Ownership and
Factors Affecting Decision Making

CERHE - AREAEEL + RERRAERR)

(a)

Government Department

Public Enterprise

1. Legal entity

Not a legal entity

A separate legal entity
established by a statute

2. Profit Not a profit making Profit oriented/
making or organization/ Run on commercial principles/
Mode of Not running on commercial
operations principles/

3. Management | Governed by officials assigned Governed by a board of

by the Government directors appointed by the
government

4. Finance Financial resources come from Finance is independent from

Government Government

5. Classification

Government department is one
type of public enterprise.

Public enterprise includes
government department and
public corporation.

(1 mark for each correct answer. max. 2 marks)

Points to note:

Question 1 Part (a) Average performance

O Most students understood the comparison was
“Government Department vs Public Corporation”
(rather than Public Enterprise).

O Some presented the answer by stating the characteristics

of the government department and public corporation

(B9

separately without comparing the differences between
them/or stating only one side of the argument.

O Most students could not state that Public Corporation

was governed by a board of directors.
O Wrong Concepts:
- Public corporation (2423 ) is not wholly owned by
the government.

- Government department (##F38F]) is financed by tax
income only.




Section B (Q.1 Average-1534% / Highestix=100%) Section B (Q.1 Average¥1#534% / Highestf=100%)

1. Business Environment - Business Ownership and 1. Business Environment — Business Ownership and
Factors Affecting Decision Making Factors Affecting Decision Making
(BREEE - SREEEEE + RERRAERR) (CEREEE - AENAERD + PERRAEER)
T A TR T T 2 Sl e R Y R R N s R ]
X q .0 .
(b) | Technological factor: (b) | #HHEE % .

- Security of Using Internet = {kfﬁ.“m“#’:ﬁ&&,_ R Ealedtv e Sl Bl Soaa oo b e
¢.g Internet fraud & scams, credit card fraud/payment security. stealing of f“l-@mﬂ*1.”~ﬁ?*":'1j’fi f W ¥R Mo/ A A P HE S IR P AT
customers’ personal data. counterfeit website. viruses/hacker attacks SRR R 20 X RS

- System stability 2 - hRHABEM 2
e.g. the stability of the network/Wi-Fi system/online selling platform fol < 4 4% /Wi-F1 & 8o/ 00 2545 16 -F & 0948 T HE

- Advancement of technology - AHkdmA
e.g. faster internet speed. new transmission protocol M: ek A 0 MR AL H A

(2 marks for each relevant factor with elaboration. max. 2 marks) A ) B 4 B il by I 2 4 Ko 2 )

Social-cultural factor: e XACE &

- glcz)li;;lirllllfl's preference/acceptance/trend of online buying/popularity of online , © A HELE W A 0B R RS/ R §

= Comput;:r literacy of the population/Technology skill of customers ( A ‘,j ﬂ? %é";&lfd!f";~,? &;’;ﬁﬁiﬂtz M)

(2 marks for each relevant factor with elaboration. max. 2 marks) A s A B AR S ) G 2 5, e 2

Besinbet ki Section B (q.2 Average F938% / Highesti&100%)
oints to note. 2. Personal Finance — Personal Credit Record and Different

Question 1 Part (b) Average performance Types of Personal loans ‘

AR - EASEH + AEEENEAER
O Some students did not identify which factor they were
referring to. (a) State two reasons for the importance of maintaining a good personal credit record.
(2 marks)-

O Some students were not able to elaborate on how the
factor affects Vivien’s decision. (B ¥wfT ¥ E G )

(b) Explain the difference between revolving personal loan and instalment loan in terms of

flexibility and pattern of drawing the loan. (4 marks)-

O Technology knowledge (# 44 #) is not one of the
technological factors. (a) # b B ENA RS R EAR FREESHHRE - @ )

O They stated points irrelevant to the case , e.g.: o) | ; . RN,
prefergnce of glothing (BR¥ E47) or habit O% using the (b) #|& B EALE R R FHEEEREARIRERMXG LR (4 )

Internet (4& /M ZWMe M) instead of online shopping.

O They stated that it would reduce costs (&4 )
(copied from the question) which was not an appropriate
elaboration.




Section B (Q.2 Average ¥#538% / Highestiz100%)
2. Personal Finance - Personal Credit Record and Different
Types of Personal loans

BAER - EASEIH + AREERAEASK

Section B (q.2 Average 538% / Highest&100%)
2. Personal Finance - Personal Credit Record and Different
Types of Personal loans

BEAEY - EAEECH + FREESENE NS

(a) | Reasons for the importance of maintaining a good personal credit record:

Easier application for consumer credit (1)
If the borrower’s personal credit record is good. the credit provider may approve the
application in a shorter period of time.

Better terms and conditions (1)

A person who has a good personal credit record is generally charged a lower interest
rate when he applies for a loan. OR longer repayment period OR greater amount of
credit

(1 mark for each relevant reason. max. 2 marks)

12

(a) | AR AMAZ I E &M

EEBEHHEREE (D
Jo R A% A A AE e A R A 3 AR A ST A A B T PO AL A P

P A ik A ik (1)

JLA RO A 280 o AT A5 AR S ST O A BUR A R/ Bk el
W/ K EHE A -

(rmmMeRBE Lo, &dH2%9)

Points to note:

Question 2 Part (a) Good performance

O Candidates were able to state the reasons for the
importance of maintaining a good personal credit record.

O Some students mixed up the words ‘lend’ and
‘borrow’.

O Many candidates stated ‘interest(#] &)’ instead of
‘interest rate(f*)’ as the answer.

O Some students stated two points, like lower interest
rate and longer repayment period both of which
belong to the examples of better terms and
conditions ( &4 &4k ko417 ) .

Section B (q.2 Average :4438% / Highestfiiz100%)
2. Personal Finance - Personal Credit Record and Different
Types of Personal loans

B A/ - EAEERCE + AREEE NG

(b) | Difference between revolving personal loan and instalment loan

Flexibility of loan repayment

Revolving personal loan allows consumer to repav_by irregular or lump-sumn
pavinents anvtime(1) while instalment loan requires consumers to repayv with equal
periodic pavinents over time. (1) 4

Pattern of drawing the loan

Revolving personal loan allows consumers_to draw credit as long as the total
amount of credit is within a limit(1). Instalment loan is a kind of credit that allows
the consumer to draw credit limited to a specified amount (in one go. (1)




Section B (q.2 Average F#538% / Highest100%)
2. Personal Finance - Personal Credit Record and Different
Types of Personal loans

EAER - EAEEH + FEEEIEAERK
RO B e e e

(b) | 34 ¥4 A A3 38 Ao 3 A B iy 2
A EEWF @ 0 A ALE RS AP B EE - AT A R
A AL AR AT 18] SRR I K — kb A M AR AR+ o A SRR R K
1 F A R A8 ) A B agakR - (2)

FERRBCBRBLR @ o 0 AT R IR ST SE o WA R SEHOE SE RS
O o I AR AES ST UV T A0 0 T §o, 1B e PR S MR RIROA SR AR 0 o
A MR AL T — RIS LK - (2)

Section B (Q.3 Averagei g 23% / Highestig s 100%)
3. Accounting Concept

git - gt

I et i i o e e e
On 30 June 2017, Peter bought an antique motor car and printed his company’s logo on the car

at a total cost of $700,000. The purchase agreement was signed in the name of the company.
Peter solely used the car to drive his son to and from school. On 30 September 2017, he
obtained a market valuation of the car from an auction house. The market value was estimated
to be $760,000 and this amount was shown on his company’s statement of financial position as
a non-current asset. On 1 October 2017, the company settled the total costs of $700,000 by
cheque. The financial year ends on 30 September each year.

Required: -
(a) For the above situation, describe and explain a relevant accounting concept that has been
violated and provide an explanation for the violation. (3 marks)-

(b) Prepare double entries to record the acquisition of the antique motor car on 30 June 2017.
(1 mark)-

Points to note:
Question 2 Part (b) Poor performance

O Most candidates were unable to explain appropriately the
flexibility of repaying (ks &%) and pattern of
drawing (#&®&# X ) revolving personal loan.

O Instalment loan (4-##H# ®#%) is not the same as
instalment(&4- M A #).

O For the pattern of drawing the loan, students wrote
‘draw fixed time (& ##m) for instalment loan’
instead of ‘draw once (—=RMHER) .

O Some of them stated that ‘only minimum payment
needs to be paid (2§ % & &B#&H) ' which was not
necessarily the repayment requirement of a revolving
personal loan.

0 Some students stated the application procedure ( ¥ %
#4%) of two different types of loans as the explanation
of pattern of drawing.

Section B (Q.3 Averagey-#g 23% / Highestg:s 100%)
. Accounting Concept
it - FHEE

#2017 £ 6 A 30 8 - WEME— AR ARBST00,000 89& FRE - AREH AR
®o FUENDLREEMEME ALRANEREFH L FHERRH - 2 2017 £ 9
A 30 8 > tbfidh RATRABZAEWEE - B T E AST60, 000 - 2 & A4 bR AR
BMBRAEPHEAHEE - 2R 2017 £ 10 A 1 8 2 L7 48700, 000 Fe+8 %
HEFsy 9 AR08 .

EEER: .
(a) fwimE g AmiERy—BMANEeHTmsE - 3 2
(b) #&dl4k X edkoiseskn 2017 46 A 30 B MEFEALNRS - (14




Section B (Q.3 Averageiiy 23% / Highestig = 100%)
3. Accounting - Concept
@it - GEhER

(@) | Business entity concept has been violated./ Entity concept (1)

Business entity concept states that the business and_its owner are fwo_separate
entities.(1)

Private/Personal assets/transactions should not be recorded in the company’s book.
(H)OR

Since the antique motor car is not used in the business (just for the transportation of

(53]

Peter’s son). it should not appear in_the statement of financial position of the
company. (1) OR

Since the antique motor car is not used in the business. the purchase of the car
should be treated as drawings. (1)

(1 mark for each relevant elaboration. max. 1 mark)

(b)

2017
June 30 Dr. Drawings $700.000

0.5
Cr. Other Payables/ Account payables $700.000 0.5

Points to note:

Question 3 Part (a) Average performance

O Some students wrongly stated Historical Cost concept
(B ¥4 MmA) or Accrual concept (Ei#A) . (The
market value is given in the question.)

O They wrongly applied the Business Entity concept (4 ¥18
##M4A) , like ‘'The car was bought by business’s
cheque. The owner should not use it personally.’

0 However, most students stated the motor car was not
recorded in non-current assets; thus, no marks were
not rewarded.

Question 3 Part (b) Poor performance

O Though many candidates were able to credit the “"Other
payable” account, a wrong account name was used:
non-trade creditor, trade creditor, trade payable.

O Some of them made the debit entry in the “"Motor
Car” account and credit entry in the ‘Bank’ account.

Section B (Q.3 Averageiig 23% / Highestis 100%)
3. Accounting - Concept

it - gt
T R e B S T e W S L T S T S S
(a) | @R TOERSMS. (D
CEMMmAE S EMARE L HMMG LM - (L)
FAB T A/ Z % A M AL 3 AP - (1)
&
MR R AR RAR S E (ARG HLT), CAMMELNDHM | 3
kA& L - (1)
#
b R AR A AL E WA AR MRARA - (D

(R sgia M) s Wi 1%« iedh 1)

(h)

2017

64 308 fi: KA $700, 000 0.5
S0 HA M A PR/ R A AR $700, 000 0.5

Section B (Q.4 Averagey-#3j 36% / Highesti = 100%)
4. Management - Effective Management Principles
B - AREEFEA

Employees work in three departments including purchasing, operations and marketing in a book
store. The store is running successfully with full cooperation from all departments..

(a) With reference to the principles of effective management, briefly explain the principle
adopted in the book store. (2 marks).

(b) From the view of employees, state one advantage and one disadvantage of the above
principle. (2 marks)}



Section B (Q.4 Averageifg 36% / Highestizs 100%) Section B (Q.4 Averagei:i5 36% / Highesti s 100%)

4. Management - Effective Management Principles 4, Management - Effective Management Principles
B - AREEFEA EE - AREHEEA
(a) Division of work (1) (Division of labour is acceptable but not recominended)

e NoH = .38 . o : A4 3 ; R : . ]
E-EENTHZMELN K BEPTHREH - dN R LAY R 01 - The production process is broken down into many different tasks (1)
EEHEEREEARS - ¢ OR
- Each worker concentrates on one or a few tasks. (1)

(a) BFEAKREERA - [ RA L L EEAMKR 9 —BRA @ 2)- OR

- Each department should specialize in one function. (1)
(b) 3616 B &g A mE - FIS E HUR B89 — 10 45 9 do — T HR S - 2 %) (1 mark for each relevant elaboration. max. I mark)

(@) |o%x (1

- A EBBOTASBARBGTAE - (1)
&,

- HMAIRFMATEMAELETAE - (D
&,

- AP R R A KM o (1)
(dpssAa Mo 14 0 ey 14r)

Section B (Q.4 Average g 36% / Highest&s 100%)

Points to note: 4. Management - Effective Management Principles
i ; RESTE — AR
Question 4 Part (a) Satisfactory performance B - AREEER
O Most candidates were able to identify the principle - (b) | Advantage to employees
“division of work (4 x.) ” However, some of them failed - As they repeat their tasks many times. they can become skillful: hence, their
to give appropriate explanation. confidence or satisfaction is increased. (1)

OR

O Examples of the wrong answers: 4 B . .
) T £ % Workers can work faster: hence. they can have more return or more leisure
- The company is divided into different departments or time. (1)

functions. (Departmentalization2fFj4t)
- Employees are assigned to the departments/jobs which

(1 mark for each relevant advantage, max. 1 mark)

(28]

they perform the best Disadvantage to employees
- Different workers doing different jobs - Employees would feel bored due to repetition of work. (1)
5 OR
O They focused on the word, ‘labour’, instead of ‘work’. i ; . L
Difficult for employees to change their occupation as their skills are too
O A few students wrongly stated ‘departmentalization’. specialised. (1)
OR

Lower job motivation due to repetition of work. (1)
(1 mark for each relevant disadvantage . max. 1 mark)




Section B (Q.4 Average™:ty 36% / Highest& s 100%)

4.

Management - Effective Management Principles
B - AREMRA

(b)

HA T R

- B REME M o A d 5 RAAIE SRR AR - (D

&

- AT RANEMAF LT R E R e MBI $ SRR M et
B (DD

Cirsmda W eamys 1 o - iem 1)

YR T s

- BAEMT - T RPN

L

- BAR T BN Y ML R A Lk E - (D
&

- N EMTE BTGB E TR (D

(Eom g ) agde s 1 4 > i 15

Section B (Q.5 Average 47% / Highest 100%)

5. Accounting — Income Statement / Management -

Management Functions and Key Business Functions
(% of attempt = 84%)

| Kingsley runs a company selling innovative electronic products in Wan Chai as a sole

proprietor. Accounting information of his company for the year 2017 was extracted
below:

S
Sales by cheques e
Credit sales 500.000
Purchases bv chegues 144,000
Goods retumed by customers of credit sales 40,000
Goods returned to suppliers of credit purchases 20.000
Credit purchases 200,000
Payments to suppliers of credit purchases by chegues 150.000
Operating expenses 62,000
Trade receivables. 31 December 2016 30.000
Trade receivables, 31 December 2017 $0.000
Inventory. 31 December 2016 60.000
Inventory, 31 December 2017 30.000
Discounts received 3,000
Receipts from customers of credit sales by cheques 2
Bank. 31 December 2016 53.000
Bank, 31 December 2017 227,000

Other information:
a) The gross profit for the yvear 2017 was S236.000.
@i All operating expenses were paid by cheqgue.

Points to note:

Question 4 Part (b) Satisfactory performance

O Some of them provided their answers without stating
whether it is an advantage or a disadvantage.

O Most of the students couldn’t state the advantage to
employees.

O Examples of the wrong answers:

- Practice makes perfect/increase productivity/ save time
for training/easy to handle the task (These are the
advantages to business)

O

They stated correctly for the disadvantage.

O Some of them just stated disadvantages without
reasons.

CER(Q.5 T34 47% / &% % 100%)
5. 43 - MEEA/BE - FESENEEHESRE
(EXwE = 84%)

| sz W 2R AP RE T8 FOIETTE LG0T - LT HHE 201
EN- X LR s R ELE S

S
& E O ER %R b
B 2K 500, 000
BA ek 144, 000
g bR AR E AR IR = 8 B ST 40, 000
R W ST RRMESYRR S 20. 000
B 200, 000
AR R EATERIREE R T 150. 000
TEEH 62, 000
o E AR - A 2016 £ 12 B 31 3 30, 000
R RR 0 Y 2017 £ 12 5 31 3 90. 000
FE 5 2018 12 8 31 8 60, 000
HFE - 20T 12 H 31 8 30. 000
8% 3 3o 3. 000
W ERMRAR T UL FR Y X FE ?
S$LATIE SR - A 2016 F 12 F 31 = 53, 000
SRATIRSL - FY 2017 £ 12 B 31 3 227, 000

4 2017 = &9 £4] 58236, 000 -
A R R M R R A




e

(a) Prepare for Kingsley an income statement for the vear ended 31 December
2017. (5 marks)
@ Kingsley Format = 0.5 ( NP
Income statement for the year ended 31 December 2017 must be double
g $ S underlined)
Sales (b.f) 630,000 0.5
Less: Retumns inwards 40,000 590,000 0.5
Less: Cost of goods sold
Opening inventory 60.000 0.5
Purchases(144.000 + 200.000) 344.000 0.5
Less: Returns outwards 20.000 324.000 0.5
384.000
Less: Closing inventory 30.000 354,000 0.5
Gross profit 236.000
Add: Discounts received 3.000 0.5
239.000
Less: Expenses
Operating expenses 62.000 0.5
Net profit 177.000 0.5

Points to note:

Question 5 Part (a) Good performance

O Most candidates were able to prepare the Income
Statement and got the correct net profit figure.

O Improper heading of the statement (4%A8)

O Improper names of account (#& 7 £#) , mainly copied
from the question: goods returned by customers / to
suppliers

O The amounts of cash and credit sales / purchases were
shown separately instead of one amount.

O They mixed up the concepts of net sales and sales.

(a) HE b P2 201T £ 12 B 31 s HFESHHMER -

G

(a) A X 0.5GFH
MBEME201TH 124 31 8 EHFH BA W EER)
$ $ $
MR (A% 630, 000 0.5
W A ERW 40, 000 590, 000 0.
e B R A
ERES ' 60, 000 0.5
% ¥ (144, 000 + 200, 000) 344, 000 0.5
e IR 20, 000 324, 000 0.5
384, 000
N MRER 30, 000 354, 000 0.5
4] 236, 000
ho s W8 drde 3, 000 0.5
239, 000
A
SEEA 62, 000 0.5
Al 177,000 0.5

{(b) Briefly explain one importance of planning. (1 mark)
(L) The importance of planning
- Clarifying the roles of each person (1)
OR
- Setting goals or objectives (1)
OR
- Making alternative arrangements to handle potential problems (1)
OR i

- Helping managers build organisational strengths and reduce weaknesses (1)
OR
- Facilitating the process of controlling (1)
OR
Better utilize/allocate the resources in order to reduce wastes (1)
(1 mark for each relevant importance, max. 1 mark)




Kingsleyv prepares to enter the Mainland market. He plans to develop a new

product line in Mainland.

( g 2o ap A ol o (1 2% . s 2 = .
(b) M=eRAF NS —EHRE (1% (c) Explain the interrelationship betwveen human resources management
R T R A R S S A E N M R R A and operations management in the new product line. (4 marks)
(b) [stesen ; e _
e 5 ' (¢) The interrelationship between human resources management and operations
- EEFAMRED P e e e e e LRLLAIONY
% 3 management
STER () - The human resources managers help in recruiting workers of right number and
= Y AL 3 y . i N .
% quality according to the requirements of production process desigued by the
© HRARR M B R A PR (1) operations managers.
t > &
- : Operati t_tl litv_standard while 1
S - . e i perations managers set _the quality_standard while human resources
- HBARIEA R AR s (D) i it : o 4
% managers help to provide staff with relevant training so that staff are able to
" i R (1) produce products up to standard.
® pE 3 1 i) st £
£ . : h .
o %M TR MR (D) - Based on the quality and quantity of workers™ output. human resources
= R EH R ; i 5 )
(g MesEBm 15 i 1) managers develop a reward svstem for the workers in which the operations
ik SR A8 (i /Y 8 R R T ) e At b : . .
' managers assist in monitoring their output in the new product line.
(2 marks for each relevant point. max. 4 marks)

FHRGRELENTE  AHEECEEFNOEER -

Points to note:

(c} MMHLEULART  BREASFRTERALETFEOMIBMS -

(4 % Question 5 Part (b) Good performance
O Most of the students mentioned the goals and the
(c) A0 A IR e be A ] 1 objectives.
S ABR - A TR YE ] Y B A B A £ v O A few students stated set directions for the company.

0 Some stated ‘anticipating potential problems / allocation
of resources’ without appropriate elaborations.

- PEEMH ARSI AN TORF IR Y R R T80 - RE

ek ASTFIREA L - .

i ik Ao Question 5 Part (c) Poor performance

BB T R B ATy TR IE 4SS B RS K B a :’é?;tui:: i:qzt::gvé’ﬁf:natbfu?fzgfég tt:e;:a“tcgii’az Srmuman

BB REA T AME A ReER - (D) : ML

G sige MO0 2 4 - B 440 functions of operations management.

O Candidates were generally weak in explaining the
interrelationship between the two functions of
management. Some presented the answer by stating the
functions of the two functions of management
independently.



Section B (Q.6 Average 43% / Highest 100%)

6. Accounting - Double Entries / Management - Management Section B (Q.6 5 43% / &5 100%)
Function and Effective management principles/ 6. &5t - FEAGIR / BE - B + AREHEER/
Business Environment — Social Responsibility (% of attempt = 15%) BB - HegEE (EELFE= 15%)
(a) Prepare for Kingsley the Trade Receivable account and the Bank account for the year (a) HEYBEHE201TE£12A831 8 &#&éﬁﬁ&ﬁﬁﬁ&ﬁﬁﬁ&ﬁ = (599
e(nded3l December 2017. e (5 marks) - (a) IR AR
a) — Tl;\(le le:e(;:e;bles . 2017 $ 2017 5
Jan 1 Balance b/f 30.000 | Dec 31 Bank (b.f) 400.000 0.5 i L 0 TN ﬂ"f’ﬁ’m 439,00 5
0.5 Dec31 Sales — credit 500.000 | Dec 31  Returns inwards 40.000 0.5 C&£3)
Becst “Balsbesil —_—ry 0.5 124318 4% - % 500,000 124318 4kikw 40,000 0.5
both 124 318 HRIAHT 90,000 0.5
balances STl Ao
530,000 530.000 AT A7
Bank 2017 $ 2017 $
2017 $ 2017 g 1A LA Ak i 53,000 | 124 3lB W 144,000 0.5
Jan 1 Balance b/f 53,000 | Dec 31  Purchases 144.000 0.5 0.5 123318 MdIFHk 400,000 | 12 A 318 M4 1§40 150,000 0.5
0.5 Dec31 Tradereceivables 400.000 | Dec 31  Trade payables 150.000 0.5 12A 3l K - 1 130,000 (127 31 XA 62, 000
(from above) » 0.5 CE 0D b 0.5
05 Dec 31 (Sl;t.lff)s-cash 130.000 | Dec 31 S‘f;egszléxsg 62.000 0.5 128318 HRIHT 997.000 0.5
Dec 31 Balance ¢/f 227.000 0.5 for (& 14
botl e
bglalnces presp——. —omlept bee )
583.000 583.000 583, 000 583, 000
Points to note: Section B (Q.6 Average 43% / Highest 100%)
: : 6. Git - HUIR / BHE - EHIE + AREEFEA/
Question 6 Part (a) Satisfactory performance BREE - HEEE (REEER= 15%)
e e e e e s s ey
Common mistakes: (b) Define span of control. (1 mark).
O Some candidates wrote ‘bal’ instead of (b) SIBEMBESES - (14
‘balance’.
O A few students could not write the details with Rb) ]The number of subordinates that a manager or supervisor can divectly control. | 1
- s :
proper accounts’ names, like: credit sales, cash ) |t g R A R TIEAR AL A T aT R ad - [ 1]
sales.
O A few students wrote Account Receivables(EuUL Question 6 Part (b) Poor performance

R®X) instead of Trade Receivables(JEWERK).
Common mistakes:

O They could not state ‘directly control’.

O A few students wrote the importance of
controlling.



Section B (Q.6 Average 43% / Highest 100%)

6. Accounting — Double Entries / Management — Management

Function and Effective management principles/

Business Environment - Social Responsibility (% of attempt = 15%)
e R e 3 e o T ety G T

Kingsley appoints Alan and Bob to be regional managers of Hong Kong and Mainland
respectively. Alan suggests that more resources should be allocated to develop the local
market in Hong Kong while Bob proposes to build a new production line in Shenzhen
Qianhai. Both of them complain that Kingsley does not delegate enough decision making
power to them. Unluckily, the company is running out of resources and has to make late

pavments to its suppliers due to insufficient funds..

(¢) With reference to the principles of effective management, state and briefly explain

which principle has been violated. (2 marks).

(d) With reference to the social responsibility, briefly explain Kingsley's responsibility and

ot

how his company will be affected.

Section B (Q.6 Average 43% / Highest 100%)

6. Accounting — Double Entries / Management — Management

Function and Effective management principles/

Business Environment — Social Responsibility (% of attempt = 15%)
ISR RSN § S = AR IO R R TR L S T S et o

(c) Unity of direction (1)

- Unity of direction ensures that all employees follow the same plan and have
the same goal. (1)

OR

- Each part of the whole plan is led by onlyv one manager. (1)

OR 2

- There should be only _one plan for a group of activities that have the same
objective. (1)

OR

- Kingsley could not co-ordinate different goals suggested by Alan and Bob. (1)

(1 mark for each relevant point. max. 1 mark)

Section B (Q.6 5 43% / &2 100%)
6. @3t - WAE / BE - SEE + AREEEN/
BRI - e EE (ESHR= 15%)

B BMEGLBRMMAZTABRPEAEHEELE - LAXR ARG ESHTR
DU RS AT o (e saih B ERA RIS BER R0 £ E L AT R AR &
BN AT BREHGERFMTH - AER » 2R FoEs > TRAMAIRGPERA -~
(c) MRABAFEILHA » FIRE FR3R P LHFAFERSG—ARE - (2 5+
(d) #AaMaitd EDT  FHBRB RN TERLG L S o LB G HE - “

2 5

Section B (Q.6 Average 43% / Highest 100%)

6. Accounting — Double Entries / Management — Management

Function and Effective management principles/

Business Environment — Social Responsibility (% of attempt = 15%)
[ S =R R AP PR R RN A S RO Sl et o roe ey |

(c) H—H Gy (1)

- B KGR A R TR RE st R R E B R 0 (D)
&

- REst e mAE s —EEARAY - (D

- SA—mBH AR B R eE s - B F— Mt - (D)

SRR AR MR B B AR AR -
(pgphaahinel 15w L o)




Section B (Q.6 Average 43% / Highest 100%) Section B (Q.6 Average 43% / Highest 100%)

6. Accounting — Double Entries / Management — Management 6. Accounting — Double Entries / Management — Management

Function and Effective management principles/ Function and Effective management principles/

Business Environment — Social Responsibility (% of attempt = 15%) Business Environment - Social Responsibility (% of attempt = 15%)
PERRRE S e L O P SR TR SN Bt e N S P T e S Ol A o Tl N R O R R A

(d) | The social responsibility of a purchaser/debtor like Kingsley is to repay its debts to

his suppliers/ ereditors on time. (1)

If the payment is late,

Kingsley may lose his credibility and the trust of the suppliers. (1)

OR

Suppliers may terminate the contract and stop further supplies of raw materials. (1)
OR

The reputation/goodwill may be adversely affected. (1)

OR

Other suppliers may refuse Kingslev's orders of credit purchase in the future. (1)

"~

(1 mark for each relevant point, max. 1 mark)

Points to note:

Question 6 Part (c) Fair performance

O Some of them gave ‘authority and responsibility (##]fo
#4£) ' as the answer, which is wrong.

Question 6 Part (d) Good performance

O They stated the wrong types of stakeholders, which are
irrelevant to the case.

O Students could correctly state the effect of the company.

(d)

F I 8/ 7 A G AR B B AR e AR R LR /B MEA et s - (D)

W
Jo s AL
TR A kg JLAE R AL, o b a4 1E4E o (1)

&

L, i % ok A o s — 5 IR R A - (1)
&,

L2 ERESIESIEZ SNCD)

&,

FE Al A0 A K O BB R T AR ST - (1)
(rspta M e 1o 0 i L a)

Overall performance in 2018
Mock BAFS Examination

Paper ; Paper Paper
1A faper! 24 2B
S 3317 3817 3008 703
students
Full score 60 90 80 80
S SCOl'
Tl 317 42.8 28 36.9
in marks
R 539 48% 35% 46%
in %
Highest score 56 80 68.5 71
in marks
S 039 89% 86% 89%
in %




Overall performance in 2018 Overall performance in 2018
Accounting Module Management Module

Examination Statistics Examination Statistics

450 U 1 2 E, Pl DIEOTD e e eartaton o - . ZE Mormat Distribution A are Distrioution Ll
. 1.4% 0.7%
, 5.6% 190 r\ 3.0%
3 13.9% 7.2%
- 43.9% 29.0%
H 71.5% ) 59.1%
90.4% 86.2%

97.3% 96.3%

: i | \

% . \ 25
N \ o

Cutoff marks: 577 (71.71) 5* (63.19) 5 (55 86) 4 (41 85) 3 (31 56) 2 (22 01) 1 (14.67) U (2 62) Cutoff marks' 5° (75.22) 57 (68 86) 5 (53 94} 4 (53 72) 3 (43.00) 2 (28 51) 1 (18.08) U (5 25}

mean: 40 07
mean: 45 22

i T [(Paper 1/90%0.4)+(Paper 2/80%0.6)]x100% Standard geviavon. 1379 [(Paper 1/90%0.4)+(Paper 2/80%0.6)]1x100%

minimum- 2 57
minimum 5.25



